m o3| I | B |Q U 0D
o) a o |oT O o
Q o Q = o 6' e
0] = > > o = o D
= 2. ® @ o® h 3 =
< 2] @ = N| O
=~ - @ 3 D 8 _ =
Q 5 ') o g T
2 c o | 2 o =
< Z | S S O
S S8
L 1856.006 | 332667 332757 | — LT. > = 8’ g @
8 1861.659 | 332.669| 332768 4_0‘1 SR S s 2
1863.960 | 332.658 1 332760 Km=1862.390 H=332.77 SN &
1866.806 | 332646 332.749
P=10.39% D=22.840
= Km=1870.544 H=332.73
L.T. a - N X
T3
1876.925| 332.603| 332.699 S A
1879.113| 332569| 332682 oogduw
] N (ﬂ 8 N
® L5 3o
L 18867541 1886.476| 332517 332.609 g w9
- o.T.
=y P=-1.44% D=24.381 <Z—Km=1891.570 H=332.54
o
S 1896.505 | 332372 | 332471
——11898.264 | 1898264 | 332347] 335446
1901637 | 332206 332.397
1903.691 | 3322661 332.368 /|
1908.016 | 332.164] 332.253 P 349% D=10.278
1911658 | 332020 332125
- 1915.233| 331.904| 332.001 -
-
5 ;n.!, 1919649 | 331.816| 331.920
R § 1023839 331.749| 331.851 o1 64% D=20.072
1926471} 331701 331.808
1920899| 331628 331.752
1937.401| 331.525| 331,638 N
1941477 331477| 331.504 P1.08% D=11.649
19437881 1943788| 331465| 331.569
1946319 | 331.447| 331542 /|
o \%
-
ARG P<1.77% D=15.532
3 77 oete
1960.776 | 1960.776| 331171} 331.294
1972.870| 331.040| 331.162
1984.940 | 330.923| 331.048
-
¢ -
by 1]
g 1995069 | 330.847 | 330.953 &
£
o
11
-3
2008.498| 330.714| 330.827 2
2019599| 330644| 330.722 —
2023211 330.555| 330.673
20253171 2025.317{ 330.514{ 330.644 P=-1.35%D=13.533
2031.095| 330.446{ 330.566
P=0.95% D=7.097
2040331 330.390{ 330474 —
2052.009| 330.438{ 330.518 P038% D287 45
-
I 20692911 330.496| 330.504 — _ _
8 L v oo = Km=2070.385 H=330.62 ad 5Nz
N P=2.41% D=9.374 LT, o
& 2074.024| 330589 | 330.696 ool
2077.241| 330639| 330.745 L] 2 g § § g
o.T. 8 & §
2087.419] 330891 330790 P=-0.20% D=17.993 - Km=2086.065 H=330.79
20050081 330674 330.773 -
2103.329| 330.726| 330.832
P=0.84% D=29.527
2117.903 21176274 330.822} 330.952
21259461 330.923] 331.021 —
-
1}
<
§ 2138.484| 330.902| 331.073
2142.024| 331.006] 331.087
21459181 331.030| 331.103
2149167 | 331.003| 331.116 v
g et Km=2151.546 H=331.13
21550607, 2155.060 | 331.049| 331.137 2 LT.
(‘}9 5 ;Us
2161310 D 2161310 331.049| 331.134 4
fRss B BE 2 o H g
: - : © I ﬁ
ON G uR
2172471| 330918 331.066 - T 59092y
o | 2174723} 3308891 331.042 d=2oupDp
- 0 o = u
|10 o N o
&(3 ) IS
J|g | 2181284 330761 330954
NS
2186107 | 330.706 | 330.870
21915561 330.648| 330.757 o.T.
T < Km=2193.582 H=330.71
2198082 ), | 2198.082( 330525 330602 t
Su 2200189 | 330442 330.552 g
&V
@%04.332 2204332 330.350| 330.453 T
(
2210.806 | 330.204 | 330.298 3
- 2214701} 330.081] 330.199 ]
& 2218.726| 329.929| 330.088
3
2 2223904 | 320797 329.944
22278511 3820724 329.835
—2236.063 { 2236,063 320.498 329.615
2238.612| 320411| 320537
2242.143| 329283 329.439 -
2246.023| 320.162| 329.331 &
2]
2
o
22554991 3289271 329.069 &
2957248 328901 329020 8
(=]
2061.744 | 328774| 328.895 =
2267433| 328629| 328.738
2275.837| 328403 328.532
2278.730| 328346 328.473
2281.958| 328279 328.407
ki 2285659 | 328194 328.332
8|8 2289.486| 328.131| 328.254
&g 22922391 328079 328.198
° 2205440 | 328033| 328.133
2300.340 | 327.943| 328.034
2302.765| 327.913| 327.985 v
2039831 3081 BB 0
<X
=
[w]
11
2]
S
2319.362 | 327.536| 327.647 S
2321557 327.487| 327.603 =
23231554 | 327.441) 327.562
2334419 | 327231 327.329 ]
2342469 | 23424601 326970| 327.104
2354.127| 326606 326.778
2358.179| 326.501| 326.665
0
1
~
3
2372.381| 326117 326.268 g
7
[=>]
&
[4,]
N 8
@®
&
@
(=]
2395.373| 325504 325.625 -
2403.782| 325332 325.440
24286051 2428605 3247901 324.915
el
n
N
g
2444.896| 324405| 324.565 X
v
©
[}
[}
(3]
2465.876 | 324022 324.118
2469.096| 323.956| 324.049
_ -
ﬂ
§ 2482802 323613| 323.746
[N
2492944 323360 323513
2495165| 323310 323.462
2501.135| 323.169| 323.325
2504.771| 323.086| 323.242
2514536 | 322.909| 323.017
R
!I
o
2529510 | 322.541| 322673 g
25322421 322515{ 322610 §
2536.230 2536.2301 322432{ 322519 ¢
§ ~—Km=2537.867 H=322.48
© I.T.
2542.887| 322203 322.368 °
2555224 | 322015 322.113
-
& 2560630 | 321933 322010
o
(3]
o
o - N X
T3
2579266 | 321570 321.702 °Ouwgyu &
S @ =~ Y
o = O ye
o N o
2686.1801— 2587.363| 321466} 321.589 SEAIN
2591914 | 321437| 321.532 v
2597199 | 821392 321.470 §
o R®
L8 g 4:—%;;2603 489 H=321.40
8|3 2603.960 | 321.331| 321.400 L . .
=1k [N
o8 2600.510 | 321.269| 321.345 N
2621.880 | — 2621.880| 321.110} 321.222
2624.098| 321.081| 321.200
B BIN| B
2635151 320940 321.080
2637.876| 320.890| 321.063
2647.034| 320.803} 320.972 o
n
2651.682| 320.745| 320.926 2
(=]
R
[w]
1]
=]
o
2664203 | 320670 320.801 8
-
) 2669.562| 320610 320.748
S 2674202} 320578 320.701
2682842 | 320504 320611 ]
2686.659| 320.435| 320.551
2600.579| 320.373| 320.489
2698.027 | 320253 320.372
2701.009| 320.203| 320.325
2704.381| 320.155| 320272
T
!I
2717.400 | 319.952( 320.068 o
o
2720.859 2720.869| 319.900{ 320.013 R
o
o 2
™ -
38 2 -
S Km=2733.032 H=319.82
2735.357 78U 38EB| 318588 LT,
I 2737.941| 319632| 319.757
2 27411141 319.605| 319.728
a ]
o
omaeoor!— | FAEE§47| 1864B{ 318784 e - N7
[T
2751585 319.604| 319.703 O.T. = =
< Km=2753.174 H=319.71 o552y
| | 2755118 3196191 319.717 a982sa
1| = ¢ M
758.797 . .7 LD =2
S(% | EBLer| 31883 38 S+ 2
Q
®|3 | o764562| 319.606| 319.759 i
2768.223| 319.634| 319.776 'Y
2769.166 | 319.644 | 319,780 8
2773.604 —— 2773604 | 319.631] 319.799 >
N 2775923 | 319.655| 319.810 8
2 ®
& 2781.024 | 319.743| 319.832 =
2784 012 319782 —
_g =2 T3 = =3
St Z3 33 g § D g 3z z=Z g ssgd
& S& 22 T 5 5l 0 2 :/g 28 3| g8s¢s
! Oc Gi N o N| =n & FIR N2 & 28R
=g = o & vE =S 2 cC 3 -
8 o =23 F] Q| =-— = @ % Own 28 5859 E
D B 3 o x n o c 3 N @
) 8 Bf S idN:o ° cg 2L 8 v3C3
o N - - [
3¢ Ss e 5 O (@) S| o = 3 8 g o
=4 =8 @ A~ S | o S ot -~
oa| =g zZ O g3 3| 8383
% > 22 S:g§8 & T3 SR § fii%
< A o £ (<) c 5|5 A= - % N 2 Q
- R *%‘ﬁs N- c 22 9% 3 28=z7
S i x 3§ S = 8|3 2@ & s
=9 :EU__g-. < x 3@552 gog
. 3 <.
s fs8 4/ 8 a%iggggi‘g
- = - O x> X & T
S 11728 BIEAE
Q ‘5 S = s S ! wn ¥ oo
~ -0 ¢ Q. » E P o I =
iy ase |3 s388 c o 253
c [N =~ = o 58 a O ==
o c|§ g P x Q 3 %3 g 3
o g2 W%5 o N nd (B 20 2
o - %2 585 |08 o @ £
2 | o RS % S o N § 3 3>
= = [~ - N = - =
g4 & S 35w L e B
5 [ Q A Q =
we O Rk Ao N S N c 2
g P & S o <9 = P
5 g8 2 [ X Q s |3 3
i ) Q s [} <
o 3 :%F X I8 8 i
[]
© g 833 (£ X g0 ¢ 3
~ -~ Q
= S35 9 | 3 N =
o = S ) §
S ) 9 » S
— " FY 3
pd : (Y 3 3
= S 8 3
(7 Q £ 3
° x
ﬁ = E - 'g. §
s e o N S
) N = Q a 8
Q
—_ ) s % 2
o g ) § g
© L




